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logn n nlogn n? nd 2" n!

2 5 12 25 130 30 120
3 10 33 100 1000 1024 3628800
4 15 59 225 3375 32768 —

4 20 86 400 8000 1048576 —

5 25 116 625 15625 — —

5 30 147 900 27000 — —

7 100 664 10000 1000000 — —

8 300 2468 90000 27000000 — —
10 1000 9966 1000000 — — —
13 10000 132877 100000000 - — —
16 100000 1660964 — - - -
20 1000000 19931568 — — — —
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#t 1~n F DDA EKDS
= int(input())

ans

i range(', n+ ):
ans += 1

print(ans)
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ans =
1 (1, n+l):
ans += 1

2.61 s + 3.82 ms per loop (mean = std. dev. of 7 runs, 1 loop each)
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53.7 ns £ 3.87 ns per loop (mean = std. dev. of 7 runs, 10,000,000 loops each)
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